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ACCOUNTING STANDARD

AS 1 “Disclosure of Accounting Policies”

Q.1.

Q.2.
Q.3.

What are the three fundamental accounting assumptions recognised by Accounting
Standard (AS) 17? Briefly describe each one of them.

Mention few areas in which different accounting policies are followed by companies.

In the books of M/s Prashant Ltd., closing inventory as on 31.03.2015 amounts to
% 1,63,000 (on the basis of FIFO method).

The company decides to change from FIFO method to weighted average method for
ascertaining the cost of inventory from the year 2014 -15. On the basis of weighted
average method, closing inventory as on 31.03.2015 amounts to I 1,47,000. Realisable
value of the inventory as on 31.03.2015 amounts to ¥ 1,95,000.

Discuss disclosure requirement of change in accounting policy as per AS -1.

AS 2 “Valuation of Inventories”

Q.4.

Q.5.

Q.6.

Q.7.

Q.8.

Q.9.

“In determining the cost of inventories, it is appropriate to exclude certain costs and
recognize them as expenses in the period in which they are incurred”. Provide examples
of such costs as per AS 2 ,Valuation of Inventories®.

The company deals in three products, A, B and C, which are neither similar nor
interchangeable. At the time of closing of its account for the year 2014-15, the Historical
Cost and Net Realizable Value of the items of closing stock are determined as follows:

Items Historical Cost Net Realisable Value
(X in lakhs) (X in lakhs)
A 40 28
B 32 32
C 16 24

What will be the value of closing stock?

X Co. Limited purchased goods at the cost of I 40 lakhs in October, 2014. Till March,
2015, 75% of the stocks were sold. The company wants to disclose closing stock at ¥ 10
lakhs. The expected sale value is X 11 lakhs and a commission at 10% on sale is payable
to the agent. Advise, what is the correct closing stock to be disclosed as at 31.3.2015.

The company X Ltd., has to pay for delay in cotton clearing charges. The company up to
31.3.2014 has included such charges in the valuation of closing stock. This being in the
nature of interest, X Ltd. decided to exclude such charges from closing stock for the year
2014-15. This would result in decrease in profit by I 5 lakhs. Comment.

In a production process, normal waste is 5% of input. 5,000 MT of input were put in
process resulting in wastage of 300 MT. Cost per MT of input is ¥ 1,000. The entire
quantity of waste is on stock at the year end. State with reference to Accounting
Standard, how will you value the inventories in this case?

You are required to value the inventory per kg of finished goods consisting of:

% per kg.
Material cost 200
Direct labour 40
Direct variable overhead 20

Fixed production charges for the year on normal working capacity of 2 lakh kgs is ¥ 20
lakhs. 4,000 kgs of finished goods are in stock at the year end.
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Q.10. On 31° March 2013 a business firm finds that cost of a partly finished unit on that date is
% 530. The unit can be finished in 2013-14 by an additional expenditure of ¥ 310. The
finished unit can be sold for I 750 subject to payment of 4% brokerage on selling price.
The firm seeks your advice regarding the amount at which the unfinished unit should be
valued as at 31 March, 2013 for preparation of final accounts.

Q.11. Calculate the value of raw materials and closing stock based on the following

information:

Raw material X

Closing balance 500 units
T per unit|

Cost price including excise duty 200

Excise duty (Cenvat credit is receivable on the excise duty paid) 10

Freight inward 20

Unloading charges 10

Replacement cost 150

Finished goods Y

Closing Balance 1200 units
T per unit

Material consumed 220

Direct labour 60

Direct overhead 40

Total Fixed overhead for the year was ¥ 2,00,000 on normal capacity of 20,000 units.
Calculate the value of the closing stock, when

(i) Net Realizable Value of the Finished Goods Y is X 400.

(i) Net Realizable Value of the Finished Goods Y is ¥ 300.

Q.12. Capital Cables Ltd., has a normal wastage of 4% in the production process. During the
year 2013-14 the Company used 12,000 MT of raw material costing ¥ 150 per MT. At the
end of the year 630 MT of wastage was in stock. The accountant wants to know how this
wastage is to be treated in the books. Explain in the context of AS 2 the treatment of
normal loss and abnormal loss and also find out the amount of abnormal loss if any.

Q.13. Mr. Mehul gives the following information relating to items forming part of

inventory as on 31-3-2015. His factory produces Product X using Raw material A.

(i) 600 units of Raw material A (purchased @ I 120). Replacement cost of raw
material A as on 31-3-2015 is ¥ 90 per unit.

(i) 500 units of partly finished goods in the process of producing X and cost incurred till
date ¥ 260 per unit. These units can be finished next year by incurring additional
cost of ¥ 60 per unit.

(iii) 1500 units of finished Product X and total cost incurred I 320 per unit. Expected
selling price of Product X is ¥ 300 per unit.

Determine how each item of inventory will be valued as on 31-3-2015. Also calculate the

value of total inventory as on 31-3-2015

AS 3 “Cash Flow Statements”
Q.14. What are the main features of the Cash Flow Statement? Explain with special reference
to AS.

Q.15. X Ltd. purchased debentures of ¥ 10 lacs of Y Ltd., which are redeemable within three
months. How will you show this item as per AS 3 while preparing cash flow statement for
the year ended on 31% March, 2015?
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Q.16. Following is the cash flow abstract of Alpha Ltd. for the year ended 31% March, 2015:

Cash Flow (Abstract)

Inflows 4 Outflows 4
Opening balance: Payment for Account
Cash 10,000 Payables 90,000
Bank 70,000 Salaries and wages 25,000
Share capital — shares issued 5,00,00 Payment of overheads 15,000
Collection on account Trade Fixed assets acquired 4,00,000
Receivables 3,50,000 Debentures redeemed 50,000
Sale of fixed assets 70,000 Bank loan repaid 2,50,000
Taxation 55,000
Dividends 1,00,000
Closing balance:
Cash 5,000
bank 10,000
10,00,000 10,00,000

Prepare Cash Flow Statement for the year ended 31st March, 2015 in accordance with
Accounting standard 3.

AS 4 “CONTINGENCIES AND EVENTS OCCURRING AFTER THE BALANCE SHEET

DATE”

Q.17. You are an accountant preparing accounts of A Ltd. as on 31.3.2011. After year end the

following events have taken place in April, 2011:

(i) A fire broke out in the premises damaging, uninsured stock worth ¥ 10 lakhs
(Salvage value X 2 lakhs).

(i) A suit against the company’s advertisement was filed by a party claiming damage of
% 20 lakhs.

Describe, how above will be dealt with in the accounts of the company for the year ended

on 31.3.2011.

Q.18. MEC Limited could not recover an amount of * 8 lakhs from a debtor. The company is

aware that the debtor is in great financial difficulty. The accounts of the company for the
year ended 31-3-2011 were finalized by making a provision @ 25% of the amount due
from that debtor. In May 2011, the debtor became bankrupt and nothing is recoverable
from him. Do you advise the company to provide for the entire loss of ¥ 8 lakhs in books
of account for the year ended 31-3-2011?

Q.19. A major fire has damaged the assets in a factory of a Limited Company on 5th April —

five days after the year end and closure of accounts. The loss is estimated at I 10 crores
out of which ¥ 7 crores will be recoverable from the insurers. Explain briefly how the loss
should be treated in the final accounts for the previous year.

Q.20. A Company entered into an agreement to sell its immovable property to another

company for ¥ 35 lakhs. The property was shown in the Balance Sheet at X 7 lakhs. The
agreement to sell was concluded on 15th February, 2011 and sale deed was registered
on 30" April, 2011.

You are required to state, with reasons, how this event would be dealt with in the
financial statements for the year ended 31% March, 2011.

Q.21. In Raj Co. Ltd., theft of cash of ¥ 2 lakhs by the cashier in January, 2011 was detected in

May, 2011. The accounts of the company were not yet approved by the Board of
Directors of the company.
Whether the theft of cash has to be adjusted in the accounts of the company for the year
ended 31.3.2011. Decide.
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Q.22. While preparing its final accounts for the year ended 31st March 2010, a company made
a provision for bad debts @ 4% of its total debtors (as per trend followed from the
previous years). In the first week of March 2010, a debtor for ¥ 3,00,000 had suffered
heavy loss due to an earthquake; the loss was not covered by any insurance policy. In
April, 2010 the debtor became a bankrupt. Can the company provide for the full loss
arising out of insolvency of the debtor in the final accounts for the year ended 31st
March, 2010.

Q.23. In preparing the financial statements of Lotus Limited for the year ended 31%' March,
2010 you come across the following information. State with reason, how you would deal
with this in the financial statements?

The company invested X 50 lakhs in April, 2010 in the acquisition of another company
doing similar business, the negotiations for which had just started.

AS 5 “NET PROFIT OR LOSS FOR THE PERIOD, PRIOR PERIOD ITEMS AND CHANGES
IN ACCOUNTING POLICIES”
Q.24. When can a company change its accounting policy?

Q.25. A limited company created a provision for bad and doubtful debts at 2.5% on debtors in
preparing the financial statements for the year 2010-2011.
Subsequently on a review of the credit period allowed and financial capacity of the
customers, the company decided to increase the provision to 8% on debtors as on
31.3.2011. The accounts were not approved by the Board of Directors till the date of
decision. While applying the relevant accounting standard can this revision be considered
as an extraordinary item or prior period item?

Q26. X Co. Ltd. signed an agreement with its employees union for revision of wages in June,
2012. The wage revision is with retrospective effect from 1.4.2008. The arrear wages
upto 31.3.2012 amounts to I 80 lakhs. Arrear wages for the period from 1.4.2012 to
30.06.2012 (being the date of agreement) amounts to I 7 lakhs.

Decide whether a separate disclosure of arrear wages is required.

Q.27. Goods of ¥ 5,00,000 were destroyed due to flood in September, 2009. A claim was
lodged with insurance company, but no entry was passed in the books for insurance
claim. In March, 2012, the claim was passed and the company received a payment of °
3,50,000 against the claim. Explain the treatment of such receipt in final accounts for the
year ended 31st March, 2012.

Q.28. S.T.B. Ltd. makes provision for expenses worth ¥ 7,00,000 for the year ending March
31, 2011, but the actual expenses during the year ending March 31, 2012 comes to X
9,00,000 against provision made during the last year. State with reasons whether
difference of ¥ 2,00,000 is to be treated as prior period item as per AS-5.

Q.29. A company created a provision of ¥ 75,000 for staff welfare while preparing the financial
statements for the year 2010 - 11. On 31% March, in a meeting with staff welfare
association, it was decided to increase the amount of provision for staff welfare to ¥
1,00,000. The accounts were approved by Board of Directors on 15" April, 2011.

Explain the treatment of such revision in financial statements for the year ended 31st
March, 2011.
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AS 10 “Accounting for Fixed Assets”
Q.30. During the current year 2014-15, X Limited made the following expenditure relating to its

plant building:
< in lakhs
Routine Repairs 4
Repairing 1
Partial replacement of roof tiles 0.5
Substantial improvements to the electrical wiring system which will increase
efficiency 10

What amount should be capitalized?

Q.31. During the year MIs Progressive Company Limited made additions to its factory by using
its own workforce, at a cost of ¥ 4,50,000 as wages and materials. The lowest estimate
from an outside contractor to carry out the same work was ¥ 6,00,000. The directors
contend that, since they are fully entitled to employ an outside contractor, it is reasonable
to debit the Factory Building Account with ¥ 6,00,000. Comment whether the directors'
contention is right in view of the provisions of Accounting Standard 10 "Accounting for
Fixed Assets"?

Q.32. PQR Ltd. constructed a fixed asset and incurred the following expenses on its

construction:

3
Materials 16,00,000
Direct Expenses 3,00,000
Total Direct Labour 6,00,000
(1/15th of the total labour time was chargeable to the construction)
Total Office & Administrative Expenses 9,00,000
(4% of office and administrative expenses are specifically attributable to
construction of a fixed asset )
Depreciation on assets used for the construction of this asset 15,000

Calculate the cost of the fixed asset.

Q.33. Amna Ltd. contracted with a supplier to purchase a specific machinery to be installed in
Department A in two months’ time. Special foundations were required for the plant, which
were to be prepared within this supply lead time. The cost of site preparation and laying
foundations were X 47,290. These activities were supervised by a technician during the
entire period, who is employed for this purpose of ¥ 15,000 per month. The Technician's
services were given to Department A by Department B, which billed the services at %
16,500 per month after adding 10% profit margin.

The machine was purchased at ¥ 52,78,000. Sales Tax was charged at 4% on the
invoice T 18,590 transportation charges were incurred to bring the machine to the factory.
An Architect was engaged at a fee of ¥ 10,000 to supervise machinery installation at the
factory premises. Also, payment under the invoice was due in 3 months. However, the
Company made the payment in 2" month. The company operates on Bank Overdraft @
11%.

Ascertain the amount at which the asset should be capitalized under AS 10.
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Q.34. M/s. Versatile Limited purchased machinery for ¥ 4,80,000 (inclusive of excise duty
of ¥ 40,000). CENVAT credit is available for 50% of the duty paid. The company incurred
the following other expenses for installation.

3
Cost of preparation of site for installation 21,000
Total labour charges . 66,000
(200 out of the total of 600 men hours worked, were spent
for installation of the machinery)
Spare parts and tools consumed in installation 6,000
Total salary of supervisor 24,000
(Time spent for installation was 25% of the total time worked.)
Total administrative expenses 32,000
(1/10 relates to the plant installation)
Test run and experimental production expenses 23,000
Consultancy changes to architect for plant set up 9,000
Depreciation on assets used for the installation 12,000

The machine was ready for use on 15-1-2015 but was used from 1-2-2015. Due to this
delay further expenses of ¥ 19,000 were incurred. Calculate the value at which the plant
should be capitalized in the books of M/s. Versatile Limited.

Q.35. Briefly explain the treatment of following items as per relevant accounting standards:

>

The accountant of Star Limited valued the Goodwill of the company at ¥ 50 lakhs
and showed the same as Fixed Asset in Balance Sheet. The corresponding credit
was given to Reserves.

An expense of ¥ 5 crores was incurred on a Machine towards its Repairs and
Maintenance. The accountant wants to capitalize the same considering the
significance of amount spent.

A plant was ready for commercial production on 01.04.2014 but could commence
actual production only on 01.06.2014. The company incurred ¥ 50 lakhs as
administrative expenditure during the period of which 20% was allocable to the
plant. The accountant added X 10 lakhs to cost of plant.

AS 11 “THE EFFECTS OF CHANGES IN FOREIGN EXCHANGE RATES”

Q.36.Beekay Ltd. purchased fixed assets costing ¥ 5,000 lakh on 01.04.2012 payable in
foreign currency (US$) on 05.04.2013. Exchange rate of 1 US$ =% 50.00 and ¥ 54.98 as
on 01.04.2012 and 31.03.2013 respectively.

The company also obtained a soft loan of US$ 1 lakh on 01.04.2012 payable in three
annual equal instalments. First instalment was due on 01.05.2013.

You are required to state, how these transactions would be accounted for in the books of
accounts ending 31% March, 2013.

Q.37. (a) Sterling Ltd. purchased a plant for US $ 20,000 on 31%' December, 2011 payable

(b)

after 4 months. The company entered into a forward contract for 4 months @ %
48.85 per dollar. On 31% December, 2011, the exchange rate was ¥ 47.50 per
dollar.

How will you recognize the profit or loss on forward contract in the books of Sterling
Limited for the year ended 31% March, 2012.

Exchange Rate per $
Goods purchased on 1.1.2011 of US $ 10,000 I 45
Exchange rate on 31.3.2011 344
Date of actual payment 7.7.2011 343
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Q.38. Mr. Y bought a forward contract for three months of US $ 2,00,000 on 1st December
2010 at 1 US $ =3 44.10 when the exchange rate was 1 US $ =3 43.90. On 31-12-2010,
when he closed his books, exchange rate was 1 US $ = T 44.20. On 31% January, 2011
he decided to sell the contract at ¥ 44.30 per Dollar. Show how the profits from the
contract will be recognized in the books of Mr. Y.

Q.39. Stem Ltd. purchased a Plant for US$ 30,000 on 30th November, 2013 payable after 6
months.
The company entered into a forward contract for 6 months @ ¥ 62.15 per dollar. On 30"
November, 2013, the exchange rate was % 60.75 per dollar.
How will you recognise the profit or loss on forward contract in the books of Stem Ltd. for
the year ended 31 March, 2014 ?

Q.40. Explain briefly the accounting treatment needed in the following cases as per AS 11 as
on 31.3.2015.
Sundry Debtors include amount receivable from Umesh ¥ 5,00,000 recorded at the
prevailing exchange rate on the date of sales, transaction recorded at US $ 1=3 58.50.
Long term loan taken from a U.S. Company, amounting to ¥ 60,00,000. It was recorded
at US $ 1 =3 55.60, taking exchange rate prevailing at the date of transaction.
US $1=361.20 on 31.3.2015.

AS 12 “ACCOUNTING FOR GOVERNMENT GRANTS”

Q.41. Supriya Ltd. received a grant of I 2,500 lakhs during the accounting year 2010-11 from
government for welfare activities to be carried on by the company for its employees. The
grant prescribed conditions for its utilization. However, during the year 2011-12, it was
found that the conditions of grants were not complied with and the grant had to be
refunded to the government in full. Elucidate the current accounting treatment, with
reference to the provisions of AS-12.

Q.42. A Ltd. purchased a machinery for ¥ 40 lakhs. (Useful life 4 years and residual value X 8
lakhs) Government grant received is X 16 lakhs.
Show the Journal Entry to be passed at the time of refund of grant in the third year and
the value of the fixed assets, if:
(1) the grant is credited to Fixed Assets A/c.
(2) the grantis credited to Deferred Grant A/c.

Q.43. Santosh Ltd. has received a grant of X 8 crores from the Government for setting up a
factory in a backward area. Out of this grant, the company distributed ¥ 2 crores as
dividend. Also, Santosh Ltd. received land free of cost from the State Government but it
has not recorded it at all in the books as no money has been spent. In the light of AS 12
examine, whether the treatment of both the grants is correct.

Q.44. M/s A Ltd. has set up its business in a designated backward area with an investment of
% 200 Lakhs. The Company is eligible for 25% subsidy and has received I 50 Lakhs from
the Government.

Explain the treatment of the Capital Subsidy received from the Government in the Books
of the Company.
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AS 13 “Accounting for Investments”

Q.45. M/s Innovative Garments Manufacturing Company Limited invested in the shares of
another company on 1% October, 2014 at a cost of ¥ 2,50,000. It also earlier purchased
Gold of T 4,00,000 and Silver of ¥ 2,00,000 on 1 March, 2012. Market value as on 31%
March, 2015 of above investments are as follows:

4
Shares 2,25,000
Gold 6,00,000
Silver 3,50,000

Q.46. ABC Ltd. wants to re-classify its investments in accordance with AS 13. Decide and
state on the amount of transfer, based on the following information:

(1) A portion of current investments purchased for ¥ 20 lakhs, to be reclassified as long
term investment, as the company has decided to retain them. The market value as
on the date of Balance Sheet was X 25 lakhs.

(2) Another portion of current investments purchased for X 15 lakhs, to be reclassified
as long term investments. The market value of these investments as on the date of
balance sheet was X 6.5 lakhs.

(3) Certain long term investments no longer considered for holding purposes, to be
reclassified as current investments. The original cost of these was ¥ 18 lakhs but
had been written down to ¥ 12 lakhs to recognize permanent decline as per AS 13.

AS16 “BORROWING COSTS”
Q.47. GHI Limited obtained a loan for ¥ 70 lakhs on 15" April, 2010 from JKL Bank, to be
utilized as under:

g in lakhs
Construction of Factory shed 25
Purchase of Machinery 20
Working capital 15
Advance for purchase of Truck 10

In March 2011, construction of the factory shed was completed and machinery, which
was ready for its intended use, was installed. Delivery of Truck was received in the next
financial year. Total interest of ¥ 9,10,000 was charged by the bank for the financial year
ending 31-03-2011.

Q.48. Axe Limited began construction of a new plant on 1% April, 2011 and obtained a special
loan of ¥ 4,00,000 to finance the construction of the plant. The rate of interest on loan
was 10%. The expenditure that were made on the project of plant were as follows:

3
1% April, 2011 5,00,000
15! August, 2011 12,00,000
1% January, 2012 2,00,000
The company’s other outstanding non-specific loan was < 23,00,000 at an interest rate of

12%.

The construction of the plant completed on 31% March, 2012. You are required to:

(a) Calculate the amount of interest to be capitalized as per the provisions of AS 16
“Borrowing Cost”.

(b) Pass a journal entry for capitalizing the cost and the borrowing cost in respect of the
plant.
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Q.49. On 1% April, 2011, Amazing Construction Ltd. obtained a loan of ¥ 32 crores to be
utilized as under:

Construction of sealink across two cities:

(i) (work was held up totally for a month during the year < 25 crores

due to high water levels)

(i) |Purchase of equipments and machineries < 3 crores
(iii) Working capital < 2 crores
(iv) |Purchase of vehicles < 50,00,000
(v) |Advance for tools/cranes etc. < 50,00,000
(vi) |Purchase of technical know-how < 1 crores

(vii) [Total interest charged by the bank for the year ending | 380,00,000
31 March, 2012
Show the treatment of interest by Amazing Construction Ltd.

Q.50. A company capitalizes interest cost of holding investments and adds to cost of
investment every year, thereby understating interest cost in profit and loss account.
Comment on the accounting treatment done by the company in context of the relevant
AS.

Q.51. M/s. Ayush Ltd. began construction of a new building on 1% January, 2014. It obtained ¥
3 lakh special loan to finance the construction of the building on 1st January, 2014 at an
interest rate of 12% p.a. The company's other outstanding two non-specific loans were:

Amount Rate of Interest
% 6,00,000 11% p.a.
< 11,00,000 13% p.a.
The expenditure that were made on the building project were as follows:
Amount (%)
January, 2014 3,00,000
April, 2014 3,50,000
July, 2014 5,50,000
December, 2014 1,50,000

Building was completed on 31st December, 2014. Following the principles prescribed in
AS 16 ‘Borrowing Cost’, calculate the amount of interest to be capitalized and pass one
Journal entry for capitalizing the cost and borrowing in respect of the building.

Q.52. Shan Builders Limited has borrowed a sum of US $ 10,00,000 at the beginning of
Financial Year 2014-15 for its residential project at LIBOR + 3 %. The interest is payable
at the end of the Financial Year. At the time of availment, exchange rate was I 56 per US
$ and the rate as on 31% March, 2015 ¥ 62 per US $ . If Shan Builders Limited borrowed
the loan in India in Indian Rupee equivalent, the pricing of loan would have been 10.50%.
Compute Borrowing Cost and exchange difference for the year ending 31 March, 2015
as per applicable Accounting Standards. (Applicable LIBOR is 1%).
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AS 17 “SEGMENT REPORTING”
Q.53. The Chief Accountant of Sports Ltd. gives the following data regarding its six segments:

% In Lakhs
Particulars M N o P Q R| Total
Segment Assets 40 80 30 20 20 10 200
Segments Results 50 (190) 10 10 (10) 30 (100)
Segment Revenue 300 620 80 60 80 60 | 1,200

The Chief account is of the opinion that segments “M” and “N” alone should be
reported. Is he Justified in his view? Discuss.

Q.57. Microtech Ltd. Produces batteries for scooters, cars, trucks and specialised batteries for
investors and UPS. How many segments should it have and why?

AS 22 "ACCOUNTING OR TAXES ON INCOME "

Q.55. ABC Ltd. has provided depreciation as per accounting records ¥ 8,00,000 and as per tax
records ¥ 14,00,000. Unamortised preliminary expenses, as per tax record is ¥ 10,000.
There is adequate evidence of future profit sufficiency. How much deferred tax asset /
liability should be recognized as transition adjustment. Tax rate is 30%.

Q.56. A company ABC Ltd. prepares its accounts annually on 31st March. The company has
incurred a loss of ¥ 1,00,000 in the year 20x1 and made profits of ¥ 50,000 and 60,000 in
year 20x4 and year 20x5 respectively. It is assumed that under the tax laws, loss can be
carried forward for 8 years and tax rate is 40% and at the end of year 20x3, it was
virtually certain, supported by convincing evidence, that the company would have
sufficient taxable income in the future years against which unabsorbed depreciation and
carry forward of losses can be set-off. It is also assumed that there is not difference
between taxable income and accounting income except that set-off of loss is allowed in
years 20x4 and 20x5 for tax purposes.

Q.57. 1. OTDinyear-1 =100 lakhs

2. RTD
(@) Year-2 =40 lakhs
(b) Year -3 =30 lakhs
(¢) Year -4 =30 lakhs

3. Rates of tax
(@) Year-1=50%
(b) Year-2=50%
(c) Year-3=40% [known in Year - 2]
(d) Year -4 =30% [known in Year - 3]
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